20200 v Z RAA TR M—F A in XH

—RRDER THA ]
HEE 1-2, 3-4, 1-3, 2-4, 1-4, 2-3
1 2 3 4
— D T K HE| RCEEL|ME 0| | BK NEifiz
P mE|xCcmEsgn salan W
KE BHE ( EFERE )
G OEE ( BEAE ) 64 | 64 | 64 | 30 1
K HBRIT ( philip TC )
KCEES ohilip TC : 46 36 16 0-3 4
g Hy ( BT C )
SR HA ( BT C ) 46 63 64 2-1 2
B FR ( ZLAATA )
Bl W ( ixR=YYr2 ) 46 61 46 1-2 3
—RRDER 47 ]
AANE 1-2, 2-3, 1-3,
1 2 3
—oE 1] Wk (s | cmeze] B | B
g Emhlame sE(ER B
A #BE ( 7y — )
EE BB 7v— ) 62 | 62 | 270 | 1
Ne FKE( ILET C )
g FER( L& T C ) 26 64 1-1 2
INEPEE ( 7YV¥UTC )
R EF=E ( SETC ) 26 46 0-2 3
AANE 1-2. 2-3. 1-3,
1 2 3
—o 7@ ] e ET|TE %A |EE Ak MK | JEC
wim gl wmE glEn w2
wE £F ( RF )
s E RE ) 16 61 1-1 2
YE ¥H ( 7YVHYUTC )
TE % Sy : 61 61 2-0 1
Bl &R ( 7Y — )
O Bz ( SETC : 16 16 0-2 3
—HRDE ThT] BRI TR WA B+
T Bt AR T - VEFRED
TE %A 60
FE K




2020 Yy VAXT )R h—F A in KH

RFZ DR
(2F— A 3RBIIMKS LS5ICLELE, )

AANE 1-2. 3-4, 1-3, 2-4, 1-4, 2-3
1 2 3 4
RFZDE HED] * Br|Rm wE|oE ms|eekevr|  BHK B
X& HBEA|FE ElEs Thlnx =
KB FF (=EVAH=AL¥YATC ) _
x5 EA T ) 64 60 63 3-0 1
RE #%F ( TOYS tennis lab ) 1-2
i f& ( T0Y'S tennis lab ) 46 36 62 0.481 2
FiE BE ( T4V RKT7TC ) 1-2
wE Fh (. Yy—oaAT ) 06 63 26 0.391 4
EaREBF (T RAVT—=YTC ) 1-2
mAR B (T7RAVF—VUTC) 36 26 62 0.440 3
HENE 1-2. 3-4, 1-3, 2-4, 1-4, 2-3
1 2 3 4
RTF5 D8 TH® | T mE|va &k azlsr 2] BK WEAT
e BH|=F EB|VE mE(tm &
F#E FE (FTRAVF—ITC) ~
EH |H ( TATC ) 60 63 46 2-1 2
R B ( JULAATA ) ~
=F BEE ( T EFE ) 06 16 16 0-3 4
]E HE ( IS4V F7TC ) ~
mg px ( #—snr | 90 | 61 26 | 1-2 | 3
HH ¥ ( TOY’S tennis lab ) _
44  # ( TOY'S tennis lab ) 64 61 62 3-0 1
HENE 1-2, 3-4, 1-3, 2-4, 1-4, 2-3
1 2 3 4
RT5DE #O] A2 Zx(EmpaeT|my mF|uxsEr] B BT
Az omgtlEm woles o mlox %
AE £E ( A Mok ) ~
KB EM (A RrE ) 60 | 62 | 63 | 30| 1
FHAZETF ( 7P¥vUTC ) ~
TFH W= ( 7PHvUTC ) 06 75 06 1-2 3
BEF EF (EVFHIRAPATC )
wE OB ( T C ) 26 57 67(6) | 0-3 4
KRBT ( 7Y — ) ~
Wk % Toam 0/40 ) 36 60 |76(6) 2-1 2
T 7V OWEHRER RE FT KB T
K& EA KB HEA
AR IR 63 | msz- taEm
RE TR =
aH =
T




202003 v 7 RAX T A R—F A b in XKH

=T O 1107 T &

AANAE 1-2, 2-3, 1-3,
1 2 3
1102 7 &2 8D FF 5T | NEEET|BRLEL| Bk NEAL
H M| R RE|#A FH
FEsHF ( P—27 VT ) 1-1
i 75 26 3
» wmB = ( F—rrT ) 0.450
INREETF ( MARS-T ) 1-1
57 63 2
A RE ( MARS-T ) 0.524
BRI H ( WiE T C ) 1-1
- 62 | 36 1
B EB ( 7Y¥UTC ) 0.529
AAENE 1-2, 2-3, 1-3,
1 2 3
110627 7 & [#£®)] R T er|cwesm| B NEAL
wE osilEm AB# wR
BE BF (374U F7TC )
36 26 0-2 3
R M ( 2020 )
FIES BT ( MARS-T )
B 63 46 1-1 2
‘mHE AB ( MARS-T )
SHEXRHE (YA HrALYATC )
62 64 2-0 1
M #B (®VAIEALYATC )
1105% 7 7 2BV ERR =HERER
v ] 5, ZHERE - g R
BRI P 76 (3)
$;R F#H




20200 v JRAA TR M—F A in XH

=T DO 1207 T A

AR 1-2, 3-4, 1-3, 2-4, 1-4, 2-3

1 2 3 4
1207 7 A& @] KA BT RBAT|Hh BT BEHTH| B Mz

- S P S d Ut S PINTI:: Ly

KW OEF ( A rrrE)
B B (EEETT=ARS ) 60 60 61 3-0 1
BEARA_F (=VFIrf¥ALTC)
S BE Sy : 06 46 16 0-3 4
o ORF ( P—2 VT )
gl s ( yeonr | 00 | 4 16 | 1-2 | 3
BHEHLITHA (VA HIeLTYATC )
INLBEHE ( EVFvEALTALTC ) 16 61 61 2-1 2
AR 1-2, 2-3, 1-3

1 2 3
120627 7 2 [#®@)] mAt F| R M| er| BRER | EAL

WE OEE|ER  SeE Bx
A HF ( MARS-T )
EE % ( VARS_T : 62 60 2-0 1
R BT ( 79— )
EE T ( . ) 26 16 0-2 3
g WY ( KREHT =22 )
P MR (cmmtroxge)| 00 | 61 L
1205% 7 T A BREULE K =7

i FE— KR T - BE—

HAf EF 63

B2 =




202003 v 7 RAX T A R—F A b in XKH

V=T O 1307 T A

AEIR 1-2, 2-3, 1-3
1 2 3
1307 2 (D] m M| RETETkm B B | JE
REECEN| 8 ®9|xm BE
B &7 ( L& T C )
B 60 63 2-0 1
REETE ( L& T C )
HFRFREF  ( MARS-T )
06 36 0-2 3
g RA ( MARS-T )
KEH BT ( ABEHT=2%H2 )
36 63 1-1 2
KE B#E ( AWEHT=2HS )
AENE 1-2, 2-3, 1-3
1 2 3

13057 5 2 [3£Q®Q)] W wr|Fm BF|wn sw| BRER | NEAL
vl Bik| HREm—| 0t

EH #BF (EVFves¥ATC )

60 62 2-0 1
i Pik ( =VAFmrALYATC )

TH &F ( MARS-T )

06 26 0-2 3
+FEpF— ( MARS-T )
wI &®wF ( HETC )

26 62 1-1 2
I £ ( HEETC )

130i% 7 7 A ERFR B B &7
TRRAIE T BR F g7 - EERTE FLRR

BEH BT 64
IRES




